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Lesson 38

Objective: Look for and make use of repeated reasoning and structure
using the addition chart to solve subtraction problems.

Suggested Lesson Structure

B Fluency Practice {10 minutes) ‘
W Application Problem (7 minutes)

Concept Development (33 minutes)
B Student Debrief (10 minutes)

Total Time (60 minutes)



Materials Needed

e (T) Rekenrek (cover the unused beads)

e (T) Hide Zero cards (Fluency Template) (S) Personal
white board

e (S) 1 deck of numeral cards (single-sided numerals from
5-group cards Lesson 5, Template 1) with 2 extra tens
per pair

e counters (if needed)

e [) Addition chart (Lesson 21 Template)

e subtraction expression cards (Template) (S) Addition
chart (Lesson 21 Template)

e subtraction expression cards (Template) per group,
yellow crayon

e personal white board




| can look for and make use of
repeated reasoning and structure
using the addition chart to solve
subtraction problems.




Rekenrek

Let’s practice making 10 with our
rekenrek!



+—= Hide Zero Cards:

’ +|:’>c>nding Teen Numbers

Let’'s practice teen numbers!



T = Subtraction with
Cards

Each partner flips over two cards and
subtracts the smaller number from the
larger number. The partner with the
smallest difference keeps the cards
played by both players that round. The
player with the most cards at the end of
the game wins.



Application Problem

Jessie and Carl were comparing the beads they
picked up. Jessie picked up 9 beads. 5 of them were
red, and the rest were white. Carl picked up 5 red
beads and 4 white beads. Carl said they had the
same number of white beads. Is Carl correct? Draw
and label your work to show your thinking.




L

Concept

Development

=

How did this addition chart
help us with our addition facts?

1+0 [ 1«1 [ 1«2 [ 1«3 [ 1+4 ] 1+5 ] 1+6 [ 17 ] 1+8 1*9‘
2+0 2+1 2+ 2 2+3 2+ 4 2+5 2+6 2+7 2+8
3+0 3+1 3+2 3+3 3+ 4 3+5 3+6 3+7
4+0 | 4+1 | 42 | 423 | 44 | 4.5 | 4.8
5+0 5+1 B+ 2 5+3 5+ 4 5+5
6+0 6+1 6+2 6+3 b+4
T+0 7T+1 T +2 F+3
B+0 B+l g+2
9+0 9+1
« 0



L

Concept
Development

All the +1 addends are In the same

column.

140 [ 1«1 [ 1+2 [ 1«3 [ 1«4 | 15 | 1+6 1+8 1*9‘

240 | 2¢1 | 242 | 243 | 2«4 | 245 | 246 2+8

340 | 31 | 342 | 343 | 3«4 | 3+45 | 346

440 | 4+1 | 442 | 443 | 4«4 | 4.5 | 4.8

5+0 | 5+1 | §+2 | 5+3 | 5« 5+5

6+0 | 6+1 | 6+2 | 623 | 6+4

11" ] Here is an idea | heard!
9+0 | 9«1

10+ 0



Concept
Development

e rows start with the same part!

1+0 [ 1«1 [ 1«2 [ 1«3 [ 1+4 ] 1+5 ] 1+6 [ 17 ] 1+8 1*9‘
2+0 | 2+1 [ 242 | 2+3 | 2«4 | 245 | 2+6 | 2+7 | 2+8

3+0 | 3+1 | 342 | 3+3 | 3+4 | 3+5 | 3+6 | 3+7

4+0 | 4+1 | 42 | 423 | 44 | 4.5 | 4.8

5«0 | 5+1 | 5+2 | 5+3 | 5+4 | 5+5

6+0 | 6+1 | 62 | 63 | 6+4

7+0 | 7«1 [ 7+2 ] 7+3

B+0 | B+1 | B2 1-k

9+0 | 9+1




Concept
Development

1+0 | 1«1 [ 1«2 [ 13 [ 14 | 1+5 [ 1«6 [ 17 ] 1-8 1*9‘

2+0 | 2+1 | 2+2 | 2+3 | 2+4 | 2+5 | 2+6 | 2+7 | 2+8

3+0 | 3+1 [ 3+2 [ 3+3 ] 3+4 [ 345 346 | 3+7

4+0 [ 4+1 [ 4+2 | 4+3 | 444 | 4.5 | 4.6

5+0 | 5+1 | 5+2 | 5+3 | 5+4 | 5+5

6-0 | 6+1 | 6+2 | 6+3 | 6+4

7+0 | 7+1 | 7+2 | 7+3 :

il et ' The totals made a staircase.
9+0 | 9+1




L

Development

Concept

Write a number bond and leave
the missing part empty for now.

7 -4

1+0 [ 1«1 [ 1«2 [ 1«3 [ 1+4 ] 1+5 ] 1+6 [ 17 ] 1+8 1*9‘
2+0 2+1 2+ 2 2+3 2+ 4 2+5 2+6 2+7 2+8

3+0 3+1 3+2 3+3 3+ 4 3+5 3+6 3+7

4+0 | 4+1 | 42 | 43 | 4«4 | 4.5 [ 4.8

5+0 5+1 B+ 2 5+3 5+ 4 5+5

6+0 6+1 6+2 6+3 b+4

T+0 7T+1 T +2 F+3

B+0 B+l g+2

9+0 9+1

10«0



Concept
Development

1+0 [ 11 [ 1«2 [ 1«3 [ 1«4 ] 1+5 [ 1«6 ] 17 ] 1+8 1*9‘
2+0 | 2+1 | 2+2 | 2+3 | 2+4 | 2+5 | 2+6 | 2+7 | 2+8

3+0 | 3+1 [ 3+2 [ 3+3 ] 3+4 [ 345 346 | 3+7

4+0 | 4+1 | 442 [ 4+3 | 4«4 | 4.5 | 4.6

5+0 | 5+1 | 5+2 | 5+3 | 5+4 | 5+5

6-0 | 6+1 | 6+2 | 6+3 | 6+4 .

MR il il Vil What is the whole?
B+0 | B+1 | B+2

9+0 | 9+1

7 -4




Concept
Development

The whole is 7. The known part?

7-4

1+0 [ 1«1 [ 1«2 [ 1«3 [ 1+4 ] 1+5 ] 1+6 [ 17 ] 1+8 1*9‘
2+0 2+1 2+ 2 2+3 2+ 4 2+5 2+6 2+7 2+8

3+0 3+1 3+2 3+3 3+ 4 3+5 3+6 3+7

4+0 | 4+1 | 42 | 423 | 444 | 4+5 | 4.8

5+0 5+1 B+ 2 5+3 5+ 4 5+5

6+0 6+1 6+2 6+3 b+4

T+0 7T+1 T +2 F+3

B+0 B+l g+2

9+0 9+1




Concept
D Development

1+0 | 1«1 | 1«2 [ 1«3 ]| 1+4 | 1+5 | 16 ]| 1-7 | 1-8 1*9‘

2+0 2+1 2+ 2 2+3 2+ 4 2+585 | 2+6 2+7 2«8

3+0 3«1 3+2 3+3 3+4 3+5 3+6 3+7

4+0 | 41 | 42 | 43 | 44 | 4.5 | 4.8

5+0 5+1 5+2 5+23 5+ 4 5+5 7 _— 4

6+0 6+1 6+2 6+3 6+4

oprerpr2 73 1 \Which of the addition problems on
B+0 B+l 8+2 "

Ml Ui your chart have a part that is 47
570 Talk to your partner.




Concept

Development

7-4

1+0 [ 1«1 [ 1«2 [ 1«3 ] 1+4 | 1+5 [ 1.6 | 17| 1+8 1*9‘
2+0 | 2+1 | 2+2 | 2+3 | 2«4 | 2+5 | 2+6 | 2+7 | 2+8

3+0 3«1 3«2 3«3 3+4 3+5 3«6 3«7

4+0 | 4+1 | 42 | 43 | 4«4 | 4.5 [ 4.8

5+0 5+ 1 5+ 2 5+3 5+ 4 5+5

6+0 | 6+1 | 6+2 | 6+3 | 6+4

7+0 T+1 7 +2 F=+3

B+0 | 8+1 | B+2

9+0 | 9+1 _

e The ones here, going

across. It’s the row

that starts with 4 + Q.

There Is one here,
too, going down. |t
starts with 1 + 4.

0
0
0
o]



Concept

Development

7-4

1+0 [ 1+1 [ 1«2 ] 1 1*9‘
2+0 2+1 2+ 2 2+3 2+ 4 2+5 2+6 2+7 2+8

3+0 3+1 3+2 3«3 3+4 3+5 326 3+7

4+0 | 4+1 | 42 | 423 | 444 | 4.5 | 4.8

5=+0 5+1 H+2 5+3 5+4 5+5

6+0 6+1 6+2 6+3 b+4

T=0 T+1 7 =2 F+3

B+0 | B+l | Ba2

@ +0 9+1

10+ 0

[he chart tells the parts but
not the totals. Which of

those problems have the
same total as 7 — 4?7Don’t
call out the answer! Wait for

the signal!

0
0
0
]



Concept
Development

7 -4

1+0 [ 1«1 [ 1«2 [ 1«3 [ 1+4 ] 1+5 ] 1+6 [ 17 ] 1+8 1*9‘
2+0 | 2+1 [ 242 | 2+3 | 2«4 | 245 | 2+6 | 2+7 | 2+8

3+0 | 3+1 | 342 | 3+3 | 3+4 | 3+5 | 3+6 | 3+7

4+0 | 4+1 | 42 | 423 | 44 | 4.5 | 4.8

5«0 | 5+1 | 5+2 | 5+3 | 5+4 | 5+5

6+0 | 6+1 | 62 | 63 | 6+4

re[7 775 4+ 3and 3+ 4!
B+0 | B+1 | B2

9+0 | 9+1

20

e
Se
e
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Concept

0
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Development

7-4

Let’s color in 4+3 and 3+4 on our
chart with yellow and fill in our
number bond with the missing part!

1+0 | 1+1 | 1«2 [ 13 | 1+4 | 1+45 | 1«6 | 17 | 1+8 1*9‘
2+0 2+1 2+ 2 2+3 2+ 2+5 2+6 2+7 2+8

3+0 3+1 3+2 3+3 3+4 3+5 3+6 3+7

4+0 | 4+1 | 4+2 | 4,3 | 4+4 | 4.5 | 4.8

5+0 5+1 B+ 2 5+3 5+ 4 5+5

6+0 6+1 6+2 6+3 b+4

T+0 N | T+ F+3

B+0 | B+¢1 | B+2

9+0 9+1

10«0
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Concept

0
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7-4

Let’s color in 4+3 and 3+4 on our
chart with yellow and fill in our
number bond with the missing part!

1+0 | 1+1 | 1«2 [ 13 | 1+4 | 1+45 | 1«6 | 17 | 1+8 1*9‘
2+0 2+1 2+ 2 2+3 2+ 2+5 2+6 2+7 2+8

3+0 3+1 3+2 3+3 3+4 3+5 3+6 3+7

4+0 | 4+1 | 4+2 | 4,3 | 4+4 | 4.5 | 4.8

5+0 5+1 B+ 2 5+3 5+ 4 5+5

6+0 6+1 6+2 6+3 b+4

T+0 N | T+ F+3

B+0 | B+¢1 | B+2

9+0 9+1

10«0



L

Concept

0
2%
Se®

Development

7 -4

Write the subtraction number

sentence from the card we started
with. Also, write the addition number
sentence that helped us solve It.

1+0 [ 11 [ 1«2 [ 1«3 [ 1«4 ] 1+5 [ 1«6 ] 17 ] 1+8 1*9‘
2+0 2+1 2+ 2 2+3 2+ 2+5 2+6 2+ 7 2+8

3+0 3«1 3+2 3+3 3+4 3+5 3+6 | 3+7

4+0 | 4+1 | 4+2 | 4,3 | 4+4 | 4.5 | 4.8

5+0 5+ 1 5+ 2 5+ 13 5+ 4 5+5

6=+0 6+1 6+2 6+3 6«4

7+0 7T+1 T +2 PR

B+0 | B+1 | B+2

9+0 9«1

10+0




Concept
Development

7 -4

1+0 | 1+1 1«3 | 1+4 | 1+5 | 1«6 | 17 | 1+8 1*9‘

2:0 | 2+1 2+3 | 2+4 | 2+5 | 2+6 | 2+7 | 2+8

3+0 | 3+1 3<3 | 3.4 | 3+5 | 3+6 | 3+7

4+0 | 4+1 AV 4ea | 4+5 | 4+6

5:0 | 5+1 5.3 | 5:4 | 5:5

6+0 | 6+1 6+3 | 6+4

7+0 | 7+1 T+3 : _
Here are those equations:

8-0 | B+1

9+0 | 9+1 [ -4 = 3

10+ 0 4 +3=7

0
0
0
]
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Se®

Development

1+0 [ 1«1 [ 1«2 [ 1«3 [ 1+ 1+5 | 1«6 | 1.7 | 1+8 1*9‘

2+0 2+1 2+ 2 2+3 2+ 2+5 2+6 2+ 7 2+8

3+0 3«1 3+2 3+3 34+ 3+5 3=+6 37

4+0 | 4+1 | 42 | 4,3 | 4+ 4+5 | 448 8 = 4
5+0 5+ 1 5+ 2 5+ 13 5+ 5+5

6=+0 6+1 6+2 6+3 6+

il il bl N Let’s practice with a different
e expression!

10+0

-



L

Concept
Development

0,
2%
Se®

8 - 4

Write a number bond and leave the

1.0 | 11 [ 1+2 [ 1.3 ] 1= 15 | 1«6 1+8 1*9‘

2+0 | 2+1 | 2+2 | 243 | 2+ 2+5 | 246 2+8

3:0 | 3+1 | 342 | 3+3 | 5, 3+5 | 3486

4+0 | 4+1 | 4+2 | 4.3 | 4+ 4+5 | 4+6

5+0 | 5+1 | §+2 | 5+3 | 5« 5+5

6+0 | 6+1 | 6+2 | 63 | 6+

7+0 | 7+1 | 742 | 7+3

B+0 | B+1 | B+2 . .

et missing part empty for now!
10+ 0

-



Concept
Development

1+0 [ 11 [ 1«2 [ 1«3 [ 1«4 ] 1+5 [ 1«6 ] 17 ] 1+8 1*9‘
2+0 | 2+1 | 2+2 | 2+3 | 2+4 | 2+5 | 2+6 | 2+7 | 2+8

3+0 | 3+1 [ 3+2 | 3«3 3,4 3+5][ 3«6 ] 3+7

4+0 | 4+1 | 442 | 2.3 ]| 4«4 | 445 | 4.6

5+0 | 5+1 | 5+2 | 5+3 | 5+4 | 5+5

6-0 | 6+1 | 6+2 | 6+3 | 6+4

ik el o f i What is the whole?
B+0 | B+1 | B+2

9+0 | 9+1

8 - 4

20

00
0
o]



Concept

o] }§
2%
Se®

Development

1+0 | 1«1 1+3 | 1+4 | 145 | 1«6 | 1+7 | 1+8 1*9‘

2+0 2«1 2+3 2+ 4 2+5 2+6 2+7 2+8

3+0 3+1 3+3 3+4 3+5 3=+6 3+7

il 8 -4

5+0 5 +1 5+3 5+ 4 5+5

6+0 6+1 b+3 6+ 4

70 [ 7o 773 The whole is 8! What is the known
s part?

Q=0 9+1
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Concept

0,
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Se®
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1+0 | 1«1 | 1«2 [ 1«3 ]| 1+4 | 1+5 | 16 ]| 1-7 | 1-8 1*9‘

2+0 2+1 2+ 2 2+3 2+ 2+5 2+6 2+ 7 2+8

3+0 3«1 3+2 3+3 3+4 3+5 3+6 37 4

4+0 | 4+1 | 42 | 4,3 | 4«4 | 4.5 | 4.8 8 =

5+0 5+ 1 5+ 2 5+ 13 5+ 4 5+5

6=+0 6+1 6+2 6+3 6«4

o [ 7T [ 7oz [ 73 The known part is 4! Which of the
>0 [T 8 addition problems on your chart
il e have a part that is 47?

OV



Concept
D?velopment

8 - 4

0,
2%
Se®

The ones here, going across. It's the row
that starts with 4 + 0. There is one here,

1+0 [ 1«1 1«3 | 1+4 | 1+5 | 16 | 1«7 | 1+8 1*9‘
2+0 2+1 2+3 2+ 4 2+5 2+6 2+7 2+8

3+0 3+1 3+3 3+4 3+5 3+6 3+7

4+0 | 441 4.3 | 4+4 | 45 | 4.6

5+0 5+1 5+3 5+ 4 5+5

6+0 6+1 6+3 b+4

T+0 N | F+3

B+0 B+l

9+0 9+1

too, going down. It starts with 1 + 4.



Concept

0,
2%
Se®

D?velopment

1+0 [ 1«1 1e3 | 144 | 145 | 1«86 | 17 | 1+8 1*9‘

2+0 2+1 2+3 2+ 4 2+5 2+6 2+ 7 2+8

3:0 | 3+1 3:3| 3,4 | 3¢5 | 3+6 | 3+7

4+0 | 4+1 4.3 | 4+4 | 4+5 | 4.8 8 = 4

5+0 5+ 1 5+ 13 5+ 4 5+5

6=+0 6+1 6+3 6«4

W 2% s The chart tells the parts but not the

8.0 [ 871 totals. Which of those problems has the
90 | 9-1 same total as 8 - 4? Don’t call out the
10+0

answer!
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8 - 4

4 + 4! Let’'s colorin4 + 4 on our
addition part and fill in our number

1+0 | 1«1 | 1«2 | 1+3 | 1+4 | 1+5 [ 16 | 1.7 | 1+8 1*9‘

2+0 | 2+1 | 2+2 | 2+3 | 2+ 2+5 | 2+6 | 2+7 | 2+8

340 | 3+1 | 342 | 343 | 3,4 | 3+5 | 3+6 | 3+7

4+0 | 4«1 [ 442 | 4,3 | 44| 4.5 ] 4.8

5+0 | 5+1 | 5+2 | 5+3 | 65+4 | 5+5

6+0 | 6+1 | 6+2 | 6+3 | 6+4

7+0 | 7+1 | 742 | 7+3

B+0 | B+1 | B2

il e bond with the missing part.

OV
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0,
2%
Se®

8 - 4

Let’s also color the total of our

1+0 | 1«1 1+2 [ 1«3 [ 1+4 | 1+5 [ 1-6 1+8 1*9‘

2¢0 | 2¢1 | 242 | 243 | 244 | 2+5 | 246 2+8

30| 3+1 | 342 | 323 | 3,4 | 3+5 | 3+6

4+0 | 4+1 | 4«2 | 4.3 | 4.4 | 45| 4-8

B+0 | 5+1 | 5+2 | B+3 | 5+4 | 5+5

6+0 | 6+1 | 6+2 | 63 | 6+4

7+0 | 7«1 | 742 | 7+3

B«0 | 8B+1 | B+2

e number bond yellow!
10+0

4
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1+0 1+l {+2 1 1+5 | 16 ‘

2+0 2+1 22 2+3 2+ 4 2+5 2+65 2+7 2+8

3«0 3+1 3+2 3+3 3+4 3+5 3=+65 3+7

4+0 | 4+1 | 4«2 | 4.3 | 4.4 | 45| 4-8 8 4

5«0 5+ 1 f+2 5+3 5«4 5+5 -

6+0 | 6+1 | 62 | 63 | 6+4 _ _

N N N — Write the subtraction number

8.0 8-1] 82 sentence from the card we started

eSS with. Write the addition number

10+0 .
sentence that helped us solve it.

4 4
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1«0 1«1 1 ‘

2+0 2«1 2+ 3 2+ 4 2+5 2+6 2+7 2+8

3+0 3+1 3+3 3+4 3+5 3=+6 3+7

4+0 | 441 4+3 | 4.4 | 45 | 4.8 8 4
-

5+0 5 +1 5+ 3 5+ 4 5+ 5

6+0 6+1 b+ 3 6+ 4

e — Here are those facts:

8+0 | 8+1 8—4:4

Q+0 9 +1

4 +4 =28

20

0
0
]
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9 -4

1«0 1+1] 1«2 1 15 1«6

2+0 2+1 2+ 2 2+3 2+ 4 2+585 | 2+6 2+7 2«8

3+0 3«1 3+2 3+3 3+4 3+ | 3+6 3+7

4+0 | 4+1 | 4«2 | 4.3 | 4.4 | 45| 4-8

5+0 5+1 5+2 5+23 5+ 4 5+5

6+0 | 6+1 | 622 | 6+3 | 6+4 _ _

SN NN NI — Let’s practice with another
50| 8+1 | 8-2 expression!

9+0 9+1

10+0



Concept
Development

9 -4

1+0 | 1«1 | 1«2 [ 123 [ 14 [ 15 ] 1+6 1+8 1*9‘
2+0 | 2+1 | 2+2 | 2+3 | 2+4 | 2+5 | 2+6 | 2+7 | 2+8

3+0 | 3+1 [ 3+2 | 3«3 3,4 3+5][3+6]3+7

4+0 | 4+1 | 4«2 | 4.3 | 4.4 | 45| 4-8

5+0 | 5+1 | 5+2 | 5+3 | 5+4 | 5+5

6-0 | 6+1 | 6+2 | 6+3 | 6+4 .

NN EN S — What is the whole?
B+0 | B+1 | B+2

9+0 | 9+1

20

e
Se
e
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The whole is 9! What is the known

1«0 1«1 1

2+«0 | 2+1 2«3 | 2+4 | 2+5 | 2«6 | 2+7 | 2+8B
3«0 | 3+1 3+3 | 3.4 | 3+5 | 326 | 3+7

4+0 | 441 4+3 | 4.4 | 45 | 4.8

5+«0 | 5+1 9+3 | 5+4 | 5+5

6+0 | 6+1 6+3 | 6+4

T+0 | T+l 7+3

570 | &+ part?

9+0 | 9+1




L

De

Concept
velopment

o] 7
0
0
]

1+0 [ 1«1 [ 1«2 [ 1 1+5 | 1«6 ‘

2+0 2+1 2+ 2 2+3 2+ 4 2+5 2+6 2+ 7 2+8

3+0 3«1 3+2 3+3 3+4 3+5 3+6 37

40 | 4+1 [ 4«2 | 2.3 | 2.4 | 4+5 ] 4+6 9 o= 4

5+0 5+ 1 5+ 2 5+ 13 5+ 4 5+5

6=+0 6+1 6+2 6+3 6«4

N N N — Write a number bond and leave
570 | 81 | 82 the missing part empty for now!
9+0 9«1

10+0

-
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Which of the addition problems on
your chart have a part that is 47

1+0) 1«1 1«2 1 1+5 1 =6

2«0 2«1 22 2+3 2«4 2+«5 | 2+6 2+7 2«8

3-0 3«1 3+2 3+3 3+4 3+ 3+6 3+7

4+0 | 4+1 | 4«2 | 4.3 | 4.4 | 45| 4-8

5«0 5+1 5«2 §+3 5«4 5+5

6+0 6+1 6+ 6+3 6+4

7+0 T+1 T+ 7+3

B+0 8+1 8+

sl Talk with your partner!
10+0
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Developme

9 -4

The ones here, going across. It's the
row that starts with 4 + 0. There is one
here, too, going down. It starts with 1 +

1+0 | 1+1 1

2+0 | 2+1 2+3 | 2+4 | 2+5 | 2+6 | 2+7 | 2+8
3.0 | 3+1 3+3 | 3,4 | 3+5 | 36 | 3+7

4.0 | 4+1 4+3 | 4+4 | 4+5 | 4-6

5«0 | 5+1 5+3 | 5+4 | 5+5

6-0 | 6+1 6-3 | 6+4

7+0 | 7+1 7+3

8.0 | B+1

9+0 | 9+1

10+0

4.



Concept

o] 7
0
0
]

Development

1+0 | 1+1 1 ‘

2+0 2+1 2+3 2+ 4 2+585 | 2+6 2+7 2«8

3+0 3«1 3+3 3+4 3+5 3+6 3+7

4+0 4«1 4+3 444 4«5 CRY - 9 — 4

5+0 5+1 5+23 5+ 4 5+5

6+0 6+1 6+3 6+4

e — The chart tells the parts but not the

8.0 | 8-1 totals. Which of those problems has the
il e same total as 9 - 4? Don’t call out the

answer!



L

Concept

0
2%
Se®

Nt

De

velopme

9 -4

4 +5 and 5 + 4! Let’s color those

on our addition part and fill in our
number bond with the missing

part.

1+0) 1«1 1«2 1 1«5 1«6

2+0 2+1 2+ 2 2+3 2+ 4 2+5 2+6 2+ 7 2+8

3+0 3«1 3+2 3+3 3+4 3+5 3+6 37
-'4-0 4+1 | 42 | 4.3 | 2+4 | 4+5 | 4-6

5+0 5+ 1 5+ 2 5+ 13 5+ 4 5+5

6=+0 6+1 6+2 6+3 6«4

7+0 N | 2 PR

B+0 | B+1 | B+2

9+0 9«1

10+0

-



L

Development

Concept

0,
2%
Se®

10 | 1+1 | 1+2 | 1 1+ 6 ‘
2+0 2+1 2+ 2 2+3 2«4 2+5 2+65 2+7 2+8
3+0 3«1 3+2 3+3 3+4 3+5 3=5 3+7
-'4-{] 4+1 4.2 4+3-. 4+4_4+5 48 9 = 4
5+0 | 5+41 | 5+2 | 5+3 | 5.4 | 5+5
6+0 6+1 6 +2 &+ 3 &+ 4
)
W I S W 7Y B T | et’s also color the total of our
«0 g+ 2
: ik number bond yellow!
Q=0 9+1
10+ 0

4 (5.



L

Concept

0
2%
Se®

Development

9 -4

éVrite the subtraction number
sentence from the card we started
with. Write the addition number
sentence that helped us solve it.

1+0 | 1+1 | 1«2 [ 1 1+6

2+0 2+1 2+ 2 2+3 2+ 4 2+5 2+6 2+7 2+8

3+0 3+1 3+2 3+3 3+4 3+5 3+6 | 3+7
-'4-0 4+1 | 42 | 4.3 | 4+4 | 2.5 4<6

5+0 5+1 B+ 2 5+ 13 5+ 4 5+

6+0 6+1 6+2 6+3 b+4

T+0 7T+1 T2 F+3

B+0 | B+1 | B+2

9+0 9+1

10«0

®



Concept
Nt

Developme

9 -4

1+-0 1+1 1

2+0 | 2+1 2+3 | 2+4 | 2+5 | 2+6 | 2+7 | 2+8

3.0 | 3+1 3+3 | 3,4 | 3+5 | 3:6 | 3+7

4+0 | 4+1 4+3 | 4+4 | 4.5 A<

5-0 | 5+1 5+3 | 5+4 | 5+5 |

630 [ %5 T | 64 Ij—lere are those facts:
7+0 | 7+1 7+3

8B+0 | B+1 9 B 4 — 4

9+0 | 9+1

4+5=09

0
0
0
]



»

Concept

O

o] }§
2%
Se®

Deve

pment

o = 3

1«0 1+1] 1«2 1 1«5

2+0 2+1 2+ 2 2+3 2+ 4 2+585 | 2+6 2+7 2«8

3+0 3«1 3+2 3+3 3+4 3+ | 3+6 3+7

4+0 | 4«1 | 422 | 4.3 | 244 | 4.5 4+6

5+0 | 5+1 | 5+2 | 5+3 | 5.4 | 5+5

6+0 | 6+1 | 622 | 6+3 | 6+4 _ _

SN NN NI — Let’s practice with another
50| 8+1 | 8-2 expression!

9+0 9+1

10+0



L

Deve

Concept
pMme

O

0,
2%
Se®

Nt

9-5

Write a number bond and leave
the missing part empty for now!

1+0 | 1+1 | 1«2 [ 1 1+6

2+0 | 2+1 | 2+2 | 2+3 | 2+4 | 2+5 | 2+6 | 2+7 | 2+8
3+0 | 3+1 | 3+2[3+3] 35,4 3+5 ]| 3+6 ][ 3+7

4+0 | 4+1 | 4«2 | 2.3 | 2.4 4.5 4«6

5+0 | 5+¢1 | 5+2 | 5+3 | 5.4 | 5+5

60 | 6+1 | 6+2 | 6+3 | 6+4

7+0 | 7+1 | 742 | 7+3

B+0 | B+1 | B+2

9+0 | 9+1

10+ 0

-



Development

Concept

140 [ 1«1 [ 1+2 [ 1«3 [ 1«4 | 15 | 1+6 1+8 1*9‘

2+0 | 2+1 | 242 | 23| 2+4 | 245 | 2+6 | 2+7 | 2+8

30| 3+1 | 342 | 323 | 3,4 | 3+5 | 36| 3+7

4+0 | 4«1 | 422 | 4.3 | 244 | 4.5 4+6 9 .y 5
§+0 | 5+¢1 | §5+2 | 5+3 | 5.4 | 5+5

6+0 | 6+1 | 6+2 | 623 | 6+4 _

. What is the whole?

B+0 | B+1 | B+2

9+0 | 9«1

20

00
0
o]



Concept

o] }§
2%
Se®

Nt

Developme

10 | 11 ! ‘

2+0 | 2+1 2+3 | 2+4 | 2+5 | 2+6 | 2+7 | 2+8

3+0 | 3+1 3:3| 3,4 | 3+5 | 3+6 | 3+7

4+0 | 4+1 4+3 | 4+4 | 4.5 A< E;) == EES

5+0 | 5+1 5+3 | 5:4 | 5+5

6-0 | 6+1 6+3 | 6+4

T - The whole is 9! What is the known
570 | &+ part?

9+0 | 9+1




L

Concept

Development

1«0 1+1] 1«2 1 1+6
2+0 2+1 2+ 2 2+3 2+ 4 2+585 | 2+6 2+7 2«8 ‘
3+0 3«1 3+2 3+3 3+4 3+5 3+6 3+7
4+0 | 4+1 | 4«2 | 2.3 | 2.4 4.5 4«6 9 — 5
5+0 | 5+41 | 5+2 | 5+3 | 5.4 | 5+5
6+0 | 6+1 | 62 | 63 | 6+4 _ _
N N N — The known part is 5! Which of the
5.0 81 | 82 addition problems on your chart
el || have a part that is 57 Talk with
10+0
your partner!

-



Concept

0,
2%
Se®

Nt

Developme

9-5

The ones here, going across. It's the
row that starts with 5 + 0. There is one
here, too, going down. It starts with 1 +

1+0 [ 1«1 1

2+0 | 2+1 2+3 | 2+4 | 2+5 | 2+6 | 2+7 | 2+8
3+0 | 3+1 3+3 | 3,4 | 3+5 | 3+6 | 3+7

4+0 | 4+1 4+3 | 4+4 | 4.5 A<

5+0 5 +1 5+3 5+ 4 5+5

6+0 | 6+1 6+3 | 6+4

7+0 | 7+1 7+3

B+0 | B8+1

9+0 | 9+1

10+ 0

5.



Concept

0
0
0
]

Development

1«0 1+1] 1

2+0 2+1 2+3 2+ 4 2+585 | 2+6 2+7 2«8

3.0 | 3+1 3+3 | 3.4 | 345 | 346 | 3+7 9 - 5

4+0 | 4+1 4+3 | 4+4 | 4.5 A4-b

5+0 5+ 1 5+ 13 5+ 4 5+ 5

6+0 6+1 6+3 6+4

e — The chart tells the parts but not the

8.0 | 8-1 totals. Which of those problems has the
il e same total as 9 - 5? Don’t call out the

answer!



L

Concept

o] 7
0
0
]

Development

1+0 | 1+1 | 1+2 | 1 1+6 ‘

2+0 2+1 2+ 2 2+3 2+ 4 2+585 | 2+6 2+7 2«8

3+0 3«1 3+2 3+3 3+4 3+5 3+6 3+7

4+ 0 4+1 42 4+3-. 4+4 I 4+5 4«5 9 o 5

5+0 | 5+1 | §5+2 | 5+3 | 5.4 | 5+5

6+0 6+1 6+2 6+3 6+4 .
RGBT AREE 5 + 4! It’s already colored. Let’s fill
il il s in our number bond with the

100 missing part.

5



L

Concept

0,
2%
Se®

Development

1«0 1+1 1=+2 ] = 1«6
2+0 2+1 22 2+3 2+5 2+65 2+7 P
3«0 3+1 3+2 3+3 3+5 3=+65 3+7 9 5
-'44] 4+1 4«2 4+3-. _4+5 -
5«0 5+ 1 f+2 5+3 5+5
&=+0 65+1 6«2 &+ 3
Fo0 T T T 7ea [ 7o3 | et’s also color the total of our
il il s number bond yellow!
10«0

4 (5.



L

Concept

0
2%
Se®

Development

9-5

éVrite the subtraction number
sentence from the card we started
with. Write the addition number
sentence that helped us solve it.

1+0 | 1+1 | 1«2 [ 1 1+6

2+0 2+1 2+ 2 2+3 2+ 4 2+5 2+6 2+7 2+8

3+0 3+1 3+2 3+3 3+4 3+5 3+6 | 3+7
-'4-0 4+1 | 42 | 4.3 | 4+4 | 2.5 4<6

5+0 5+1 B+ 2 5+3 5+ 4 5+

6+0 6+1 6+2 6+3 b+4

T+0 7T+1 T2 F+3

B+0 | B+1 | B+2

9+0 9+1

10«0

®



Concept
Nt

Developme

9-5

1+-0 1+1 1

2+0 | 2+1 2+3 | 2+4 | 2+5 | 2+6 | 2+7 | 2+8

3.0 | 3+1 3+3 | 3,4 | 3+5 | 3:6 | 3+7

4+0 | 4+1 4+3 | 4+4 | 4.5 A<

5-0 | 5+1 5+3 | 5+4 | 5+5 |

630 [ %5 T | 64 Ij—lere are those facts:
7+0 | 7+1 7+3

B+0 | B+1 9 - 5 — 4

9+0 | 9+1

5+4=09

0
0
0
]



Problem Set

12345 8 Problem Set

A STORY OF UNITS Lesson 38 Problem Set m

Mame Diate

™ I] Pick a subtraction card.

L]

e Find the related addition

- ] faet on the chart and

] L]

= L] shade it in,

P - [ Weite the subtraction

L] L]

v 4 - gentence and a number
bond to mateh,

o L L] o

" L] [ ] [ E

o " " - Continue for at least &
furns,

] &1 3] 3 &1

& # L] " #

e i L] - L]

- -+ - - - -

& # ® & # #

= L&' ] (] L 3 [ 3] -

Fa ] (i} i ] (] i i)

] L] L] L] L] L] L

= ~ ] - ) & P

(7] W L] i La' ) i i Le" ]

" L] L] L] L] L] L] L]

— (7] iy F a w3 P =

e . N " Y " * 3 b

- o ] - 0 ] P = o

o o [ o o o o o o =

& * * # * ® # * # o

- g m - 5] ] P - -9 =]




Problem Set

12345 8 Problem Set

A STORY 0F TS Lesson 38 Problem Set [0 4

On your addition chart, shode a square orange. Write the related subtraction fact in a
space below with its number bond. Color all the totals orange.

1, - =

X
N
hl

i

' T AN




«% Debriet £

Look at the subtraction problems we solved
during the lesson. (Point to sequence of 7 — 4,
8—-4,9-4,and 9-5.) What do you notice about
these problems? Where are the helpful
addition facts for these subtraction sentences
located on your chart? How can solving the
first one help you solve the next?



@ Debrief 3

Look at your work from the class. What
pattern do you notice on your chart? How are
these subtraction facts related?



@ Debrief 53

What is another set of subtraction facts that
would make a cross on your chart?



@5 Debrief 3

When you worked through the Problem
Set,was it tricky to put the totals in the right
place? Why??



@5 Debrief 3

What tool did we use in a new way to solve
subtraction problems today”? Explain how the
tool helped you.



=% Debrief

How did the Application Problem connect
totoday’s lesson?



. Exit Ticket

Lesson 38 Exit Ticket FL0 0

Nere Date

Write the reloted number sentences for the number bends.

2
7 6
1o< 9

3 —

LN

7 LA ¢

-
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